

Emmanuel Peter Wonighan

18/ENG06/071

Mechanical Engineering

Solve the following differential equations.

① $\frac{dy}{dx} + y \tanh x = 2 \sinh x$

② ~~Solve~~ $\frac{dy}{dx} + 2y = 3e^{3x}$

③ $2 \frac{dy}{dx} = x^2 + 2x - 3$

④ $\frac{dy}{dx} + \frac{y}{x} = y^3$

⑤ $x^2 \frac{dy}{dx} = x^3 \sin 3x + 4$

⑥ $(x^3 + xy^2) \frac{dy}{dx} = 2y^3$

Solution

① $\frac{dy}{dx} + y \tanh x = 2 \sinh x$

~~$\frac{dy}{dx} = 2 \sinh x - y \tanh x$~~

let $p = \tanh x$

$q = 2 \sinh x$

$\int p dx = \int \tanh x = \int \frac{\sinh x}{\cosh x} dx$

$u = \cosh x$

$\frac{du}{dx} = \sinh x$

$dx = \frac{du}{\sinh x}$

$\cdot \sinh x$

$\therefore \int \frac{\sinh x}{\cosh x} dx = \int \frac{\sinh x \cdot du}{\cosh x \sinh x}$

$$\therefore \int \frac{1}{u} du = \ln u$$

$$\text{revert } u = \cosh x$$

$$\therefore \ln \cosh x$$

$$\text{I.F.} = e^{\int P dx}$$

$$\therefore e^{\int P dx} = e^{\int \ln \cosh x} = \cosh x$$

$$\therefore \text{I.F.} = \cosh x$$

$$y \cdot \text{I.F.} = \int Q \cdot \text{I.F.} dx$$

$$y \cdot \cosh x = \int Q \cdot \cosh x dx$$

$$y \cosh x = \int 2 \sinh x \cdot \cosh x dx$$

$$\int 2 \sinh x \cdot \cosh x dx = 2 \sinh x \cosh x = \sinh 2x$$

$$\therefore y \cosh x = \int \sinh 2x$$

$$y \cosh x = \frac{1}{2} \cosh 2x + C$$

$$\therefore y = \frac{\cosh 2x + C}{\cosh x}$$

$$\textcircled{5} \frac{dy}{dx} + 2y = e^{3x}$$

$$P = 2, Q = e^{3x}$$

$$IF = e^{\int P dx}$$

$$\int P dx = \int 2 dx = 2x$$

$$IF = e^{\int P dx} = e^{2x}$$

$$y \cdot IF = \int Q \cdot IF dx$$

$$y e^{2x} = \int Q \cdot e^{2x} dx$$

$$\begin{aligned} \int Q \cdot e^{2x} &= \int e^{3x} \cdot e^{2x} dx \\ &= \int e^{5x} \end{aligned}$$

$$\therefore y e^{2x} = \int e^{5x} dx$$

$$y e^{2x} = \frac{1}{5} e^{5x} + C$$

$$\therefore y = \frac{e^{5x} + C}{5e^{2x}}$$

$$\textcircled{c} \frac{dy}{dx} = x^2 + 2x - 3$$

$$\frac{dy}{dx} = x + 2 \cdot \frac{3}{x}$$

$$\int \frac{dy}{dx} = \int x + 2 \cdot \frac{3}{x} dx$$

$$y = \frac{x^2}{2} + 2x - 3 \ln x + C$$

$$\textcircled{d} \frac{dy}{dx} + \frac{y}{x} = y^3$$

$$\frac{dy}{dx} y^{-3} + \frac{y^{-3}}{x} = 1 \quad \text{--- (1)}$$

$$z = y^{1-n}$$

$$n = 3$$

$$z = y^{-2} \quad \text{--- (2)}$$

$$\frac{dz}{dy} = -2y^{-3} \frac{dy}{dx} \quad \text{--- (3)}$$

multiplying (1) by (2)

$$\therefore -2y^{-3} \frac{dy}{dx} \frac{dy}{dx} - \frac{2y^{-2}}{x} = -2 \quad \text{--- (4)}$$

$$\text{and } \frac{dz}{dy} = -2y^{-3} \frac{dy}{dx}$$

multiplying

Substitute eqn (2) and (3) into (4)

$$\therefore \frac{dz}{dy} - \frac{2z}{x} = -2$$

$$P = -\frac{2}{x}$$

$$Q = -2$$

$$\int P dx = -2 \ln x$$

$$IF = e^{-2 \ln x} = x^{-2}$$

$$Z \cdot IF = \int Q \cdot IF dx$$

$$2x^{-2} = \int -2x^{-2} dx$$

$$y^{-1} \cdot x^2 = 2x^{-1} + C$$

$$y^{-1} = \frac{2x^{-1} + C}{x^2}$$

$$y^{-2} = \frac{2x^{-1} + C}{x^{-2}}$$

$$(3) \quad x^2 \frac{dy}{dx} = x^3 \sin^3 x + 4$$

$$\frac{dy}{dx} = x \sin^3 x + 4x^{-2}$$

$$\int \frac{dy}{dx} = \int x \sin^3 x + \int 4x^{-2}$$

$$= \frac{1}{3} \cos^3 x + \frac{3 \sin^3 x}{4} - 4x^{-1}$$

$$(5) \quad (x^3 + xy^2) \frac{dy}{dx} = 2y^3$$

~~$$\frac{dy}{dx} = \frac{2y^3}{x^3 + xy^2}$$~~
$$y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$